)C>boE1 [qL%Z’:a’ bg;l

oM 2x—al > 79 37k x < -1 B
o Folelh

C
= -

o

v



SOk Al B a b BN < (@-P+b< 2T WS

oﬂ. 2a—b+c o Fe?

@D 10 @ 9 A 8 @ 7 ® 6



3. 1 7Rl 1600 Yotz G4 12jet 1 7Hel 2,000 ¥ Sh= AEE &
A A 20 7HE AL gheh AA] 71E 0] 34000 9 Eok 231 35000
A Ho 2 st @ uf, F2] 1= o 2 7E Afof st=A
Torof et

B = A



ol AbtelZe] 91 9] Lol Wile] Zole] 2 Wjmeh 4 7} ¥ 2,
2017} 5 o]}, of AlefelEe] Hol7} 15 014 30 ola} & whe] el
ZRER R,

—_

I/\
I/\

6 10 16 10 16
_ @ — < < < —
3 3 3 4 3

T 10
30 16
—<x<4 <x<—

@3_ < ® 3<x 3



T o, of o

S

o] Gt
o] go] 450° ©]
A}
Y 600° ©]

1m.0

__AE

do
ofr

,.mo
N

=l



8% AHE 100g ©] Ut} o] AFENA B2 FTHAA 55 15%
o|AF 20% o5t THEE 1 gt} o] w] FHA|AoF F= E9] oo
opbd 729

@ 45¢g @ 48¢g @ 50¢g @ 55¢ ® 60g



QA 6t 61—/\145% 71

o|zte] eFs|elar g}, F ojzfof 4 A ¢FoH
9 go] sAo] gz Fatal, 5 WA ¢kom ozt 4 A FErh 7
oz} At 2 4= e A2

@ 30 7 @ 310 3 32 7| @ 33 7N 3 34 N



TrRlelE AlE7HA & Al W] etAl el 242t 924, 834, 89
& ok vl M7 A& Aol ato] 854 o 914 olsih
= s o] WA Aol 2 A o] Whotof S| Fetoet.
(T, A E-2 100 3 THoltt.)

e e



@ 370

@ 47}

® 570

@ 670

® 77



10.

HT

BEA x—k <3S T=

9d of, F4

D V2

=2 v 1

ko] 327

@ 2

SH= v o g FolA AUt A5t

B3 32

@ 4

AN BA

3 52



11, 49] Ae] 527k Qo] Ape 5:20) 5 i) of @ 5 Abe] 244t 21
BTHAT 60 Hep ATk G 4G F A4 455 Faholet,

s
ct



12.

170l 1,000 ¥ 3=
A2 Al 1 gl L E

E9 3} 1 7ol 2,000 ¥ St =EE FAA 30
= Ed Hc} wo] AFT AHA] Zo] 54,000 ¥

o|5l7} Bl & st il gttt L EE XA q N, Hh b 7] A S QUTHE,
axb o] 3L st

kd Eraxb=



13. 150 71| Wi HhY el Fazwl & vy el 22w 10 A4 &
#i7F Al =3, 11 78 GA] =E epx]eh vy E ok 92

o
2},
of uf, Hh7 9] A%t B A7}

YR 4l



4% 282 300g 7 9% <

14.

et ol w, 9% °J

=
=

]?l_



15. A2ZE By st=4g o AFzFe] AStEA 7} 10kg olgtx
o AE A, B, C 9 7F B g4 26 AHolar, FeFol Z+
0.5ks. 1.2kg, 0.2kg % ), 3 4ol GO W AgHRAC] 2
AT St AHE C o Ag0] Haghe Fatola)

a = 7

2 N rSL



16. n<x<n+1 (2 nSZF)A A xoll st <x>=n-2, {x} =
n+22 A% 1<x<2, 3<y<49 ), <x+y>+{x—y}7}

el 4 Gl 345 8-S o2

@D 3 @ 4 ® 5 @ 6 ® 7



